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Instraction (i) Attempt all questions.

(i) SR # Ife mava® B Al 1Er X@feE BT FHEY BT |
(i) Use diagrams or flowchart if necessary.

(i) T2 HHIG 23 H 26 qH D ULl MORD fAddey fayu 77 €|

(iii) In question Nos. 23 to 26 internal options are given.

(iv) Ue9 HI® 1 ¥ 5 AP SMATYSTIRIT U WX 1 3 3MMefed = |

(iv) Question nos. 1 to 5 are very short type questions. Each questions carries 1 marks.

(v) e HHIB 06 H 10 Adb TSN U © | YD U WR 2 3 Mafed o | ([T
B IAfIHaH eq — AT 30 I )

(v) Question nos. 6 to 10 are short type questions. Each questions carries 2 marks.[Maximum word limit of
answer is 30 words. |

(vi) U= HHIB 119 22 ToH AYSTNIT U9 8 | YD U WR 3 3% Iafed & | (SR
DI IffAHTH g — AT 50 I &)

(vi) Question nos. 11 to 22 are short answer type questions. Each questions carries 3 marks.[Maximum word
limit of answer is 50 words.]

(vii) T hHI® 23 TP ST U9 & | 39 U WR 4 & IqEfed g | (SR Bl
NfeHaH Ieg — WHAT 75 = 1)

(vii) Question nos. 23 is long answer type questions. this questions carries 4 marks.[Maximum word limit of
answer is 75 words. |

(viil) T HHIDG 24 26 TPH THSTRIT U & | TADH U WX 5 3fd 3Mm&fed B |
(TR BT IANMHad g — AT 150 IS ©)

(viii ) Question nos.24 to 26 are long answer type questions. Each questions carries 5 marks.[Maximum word
limit of answer is 150 words. ]

W1—waﬁwmzﬁwww%ﬁwﬁmﬁﬁaﬁﬁwww
I HAT 8 ?

Q.1.- Write the name of a tree belonging to grass species, which blows in once at every 50 to 100 years.

Ueq 2.— HIGT YAl He8R & Hled WR A8 & INR H & I9TT0] 61 FaRo]

I 87 1
Q.2.- Which pathogen in Transmitter in the human body on the bite of female anopheles.
U 3— HYHE T D [ Bq (B SHM BT SUANT BIT & 7 1

Q.3.- Which harmon is used in the treatment of diabetic .

Ue 4— fHd UHR F1 RIS & Il &1 99T &, 9ad AGT g1 27 1
Q.4.- Which type of pyramid is always errect and have enverted .

Ue 5—FEIH ISl & IMUERV | HIF—T I qad Bl § 2 1

Q.5.- Which gas is releated by the abilation of carbonic rocks.



geq 6.— YIRS OR 1 I oM & TA1? D3 I G HRYT IRy | 141=2

Q.6.- Amniocentesis is banned . why? write any two main reasons.

U 7.— YURIA BT 98 I Sl 219 UG H AT I BIAT &, dBol YORS bl
T 47 Bl &, IS T <feTor forfay | 141=2

Q.7.- Genetic disorder which takes peace by the addition of chromosomes in 21% chromosome and total
number. of chorosomes is 47 write two characteristios fit .

g 8— STAIMGH AFd &1 af favyand forRgu? 141=2

Q.8.- Write two characteristics of DRyopithecas man.

Ue 9— UY] U= | WA &I S arell Il # \am Ay 930 2, iR
ERIE 141=2

Q.9.- Which is the best method of animal breeding and why used in breeding.

g 10. I GeHoial & A4 foRed S MfeiRad Icurel & Araarde Sdre-r §
HERAT B & — 1+41=2

(1) ¥ (2) SR® et

Q.10.- Write the name of microbes which help in commercial production of the following.
(1) stanine (2) Buteric Acid

Ue 11.— R UG HaT 99 § 9189 AT el e, a1l Ud Y & IMER WX
WWl 1x3=3

Q.11.- Differentiate between male and female human external sexual characters the heads given points.
Skin, Hair,and Shoulder

U 12— YT Y & g §g¥l Bl ©, 97 Pl i DR g8y | 1x3=3

Q.12.- Generally flowers and multicoloured. why ? write any reason three

U 13— R AgHGd] H 16 U B T ST ATGT AYAGE! H 32 OGH B ©
PR qATSA? 3

Q.13.- Male honey bee has 16 chromosomes where of female has 32 chromosomes give reasons.

ue 14, fe=forRad @3 T @&l & JMER WR Yo @ BT FHior $ITT | g
SISy Ud fherergy rgura i forfeay | 1V541Y5=3
T g (TTdT) A%he YU (QIYHTd)

Q.14.- Prepare a punnet square on the basis of characters given below. Write genotype and phenotype ratio
too.

Red flower (Dominated) White flower ( Recessive)

U 15— HAGII Pl ITBR0T Gh” HHASISY ? 3
Q.15.- Explain analogy with examples.

U 16— AT IR T 27 $9P Pls al HRUT forRgu? 1+2=3

Q.16.- What is mental disability ? write its two reasons.



g 17— HARRT # S Yo+ & T 819 8, foIRav 59 fh9 YR a1 o1 Adhd
= 3

Q.17.- What is the harm in cattle by interbreeding write how it can stop in cattle.

Ue 18— Ud 21 ATl & Jdd I Jg Ydl Ioldl @ (& IAd oifdd OdT HET HAR

J I9g Yad Ig @ 9 S & AMER W R & & | SAD e quid W
DI | 142=3

Q.18.- A yong (Youth) of 21 years old came to know that his biological father was sandeep kumar. On what
ground that youth is claming. Describe in brief about the method.

Jo 19— <19 & Us WX 3[ENdo BT Wl SIAm 2 Sl b 99 & IRERG fhar &7
quie Hifse ? 3

Q.19.- Cuscutta (Amerbel) grown over neem plant. describe the personal relation process between them.

U 20— SUTEel] B G H BT S drell NfaREmsl | fhds YR & Uy 81 ©
9% UgNd Afd Uyl & A felfg ? 3

Q.20.- How many types of polulation are created by fire crakers in the festive mood of Diwali. write the
main polution and other polution names.

e 21, fforRad =l § U O 91 I el & A1 folRaU — 1x3=3
(1) feerR =0 & g el # |
(2) STRMEUE & A+l & U |
(3) dfferrg § I=1g & U |
Q.21.- Write the names of nationl parks found in the following places.
(1) In palamu district of Bihar State.

(2) Near Nainital of Uttarkand.
(3) Near Chennai in Tamil Naidu.

U 22— STAig™E UiEl & 9 AR et el ? 1x3=3

Q.22.- Write three habetual adaptative features of hydrophyles.

U 23— SLUAN. BIRIGT f3feell ¥ &l TR Al &, SIdIY] BIRMHI Bl €. T,
o Bq 9 99 @ ol @i fhar ST 27 ey § HHsied | 4

Q.23.- D.N.A. can not pass through cell- membrane. what is being done with bacterial cell to accept D.N.A.
Describe in brif.

3727d7 (OR)
SI. TA.U. DI Y] BY W Jad B 8 Dls IR UMY [y |

Write any four methods to get free pure D.N.A.




Ued 24— J&Y SFAGA BT AHIGG NG Id] T WRT BT Uh WRE B
forfag | 2+3=5
() SRerell BIfdE (i) forfSwT Pifrarg (iii) gEhaTED
Q.24.- Draw a labelld sketech of male reproductive system and write one main function of following part.
(i) Sartoli Cells (i1) Leyding cells (iii) Vasdeferens.

31141(0R)
Th I ST dF B AMIGd NG IR T AR B b T B
SIECI

() drad (i) STeerl (STMelR) (iii) IS
Draw a labelld sketech of female reproductive system and write one main function of following part.
(i) Infunda bulam (i1) Fimbreae (iii) Ovary

Ue 25— 9 WU H I8l S.hlcllg gieg R I8T 8l oldelol Sla- R ofdh— 3R
SART BT 8| d9 HH Fagd # ofdeiol STl ST & od — MR BRI Bl
I 9§ B <l 57 5

Q.25.- In the medium where E. coli was growing lactose was added which indulge the lac operon. Then

why does lae operon shut down some time after addition of lactose in the medium

3727dT (OR)
A AT WA §RT 50 Blally W b T feqdrell B & TR 6l
o wfeq ol |

write the semi conservative experiment of E.cole conducted by MESELSON and STALL with
diagram.

U 26— BB URWRSD BING D AER Sl T8, @rdel, TAT I 4 I7d 8, 4
JeAodl &1 YANT A 8 9D A1 g Td Al U & 99 &1 fqawor
forfgy ? 5

Q.26.- Name same traditional chattisgarh foods made of wheat rice and gram which invalve the use of
microbes Describe one of them method of its preparation.

3727dT (oR)
frg MR # oddid 3l JaIRTT Aerdr § g9 IR a™vUE SYAN &1 faaRor
fo1Rgy ?

In which food would you find lactic acid Bacteria mention any four useful write applications.
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Instraction (i) Attempt all questions.

(i) SR # A mazasd Al =i Rrar NG BT FHIT BT |

(i) Use diagrams of flowchart it necessary.

(i) I PP 23 H 26 TP & YA M<IRD fAdeq fou 17 § |

(iii) In question Nos. 23 to 26 internal options are given.

(iv) U2 PG 1 ¥ 5 Tb TSI T W 1 3fH IAmEfed 2|

(iv) Question nos. 1 to 5 are very short type questions. Each questions carries 1 marks.

(v) T HHI® 06 W 10 TH SMfAAYSTNT U 2 | TS U W 2 3% (&fed 7|
(STR BT 3fpad wes — AMAT 30 TR &)

(v) Question nos. 6 to 10 are very short type questions. Each questions carries 2 marks.[Maximum word limit
of answer is 30 words. ]

(vi) U2 AP 119 22 Th TSI U © | TP U WR 3 3 3fEfed & | (IR
DI IffAHTH g — AT 50 I &)

(vi) Question nos. 11 to 22 are short answer type questions. Each questions carries 3 marks.[Maximum word
limit of answer is 50 words. ]

(vii) T hHI®D 23 Th TSR U9 & | 39 U R 4 & IqEfed g | (STR Bl
BT Ieg — WHAT 75 = 1)

(vii) Question nos. 23 is long answer type questions. this questions carries 4 marks.[Maximum word limit of
answer is 75 words.]

(viil) T HHIDG 24 26 TPH THSTRIT U & | TP U WX 5 d 3M6fed B |
(STR & AfTDHTH Teq — AT 150 IS ©)

(viii ) Question nos.24 to 26 are long answer type questions. Each questions carries 5 marks.[Maximum word
limit of answer is 150 words.]

Ueq 1— 9RE a¥ H g9 I BRI dlel geT DI A fIRIT ST aRdl Ud dAerrs,

& ygIiedl | Urm ST g 7 1
Q.1.- Write the name of that tree which blooms in every twelve years in the hills of Kerla and Tamil Nadu.
U 2.— HARAT I H fbe fa¥el Uarel &1 Yad | Hfdd BT BIdT &7 1

Q.2.- Which toxic substance is get free The blood during Malaria disease.

Ueq 3— AYHE T & M Tq 5 M &1 SUANT BIAT ©, SHGI Ad HfHa

g b1 A8 forRguy | 1

Q.3.- Write the name of man made hormone which is used a dibeitc disease.

U 4— {5 aRRufdes 3 o S &1 fRifAs Seel 99a1 2| 1
Q.4.- Which Eco system of number pryemid in forms in verlid.
Ue 5— Thel UG SIAreA $9 & 9ol o &9 Al I gad gl 2 | 1

Q.5.- Which get in evolned duty the burning of wood of fossi is fuel.



TS 6.— WRA H MTP Bl Hd Bl AT TAT 3R H | 141

Q.6.- Why and where MTP is legalized in India.

ged 7.— QA A9 BT o1 forRay [ 22 ifolT Turgs & A1 XXYZ oA 2
B T, 99 fdBR &1 M faRay | for9d 98 dqifsd ¢ |

Q.7.- Write the sex of human in which XXYZ chromosomes are present with 22 autosomal
Chromosomes.and write in man of the diseases by wich he is suffer.

U 8.— BHIZNICH UG &l T g faRivary ferfy | 1+1

Q.8.- Write two main charateristic of Hemoerector Pekinenses.

U9 9.— WhiollT RIT &° SUDBI Udh T foTRgy? 1+1

Q.9.- What is Scaling write its one importance.

g9 10— I GeHoial & A Jdrgy Sl feiRad IdTel & AEaariie e H

T B B2 1+1
(1) affaferar (2) fufge ot
Q.10.- Write the name of micro-organisms which help in the commercial producton in the following.
(1) Peniecilam (2) Citric Acid
U9 11.— FJEAE I Ud Aqaskh H dig A 3fax ferRay ? 3
Q.11.- Write any three differences between menstaral and oestrus cycle
U 12— Sl URETY gRT ORI Gl & i dliF faeiyany ferigy? 3

Q.12.- Write any three chareteristcs of the flowers which are pollinater by water.

g3 13— LU, AR gRT AU T Gga=dr & YT & o9 fAspy foaRau ? 3

Q.13.- Write any three conclusion of experiment of linkage conducted by T.H. morgan.

ged 14— FfiRad AT Y SAeroll & SR IR Yo Whax &I AT SISy ?
ORISEISEECIC)H) (2) SRR 41 ( Y™
SHHT SIHICISY Ud WIACIgy rgurd il forikey |

Q.14.- Prepare a punnet square on the basis of following characters.
(1) Round seed (Dominats) (2) Wrikled seed ( Recessive)
Write there Genotype and Phenotype ratio.

T 15— AHOIAA DI SQT80 D gHEgY ?

Q.15.- Explain homologous with examples.

U9 16.— TSI SIBIHROT HRIBH dT AMqYIH T, 9P ol BRI foIlRgy ? 3

Q.16.- Why National Vaccination Project is important. write its two reasons.

g 17— Ife dex BT TSl @l T 3T At B a7 oI o Uiy iR a1 94T
g ? g aifee ? 3

Q.17.- What will be effect on pea plant in its nodulated roots are destroyed. explain it.



geq 18— ¥l ¥eI gHeAT & SR 3 I a+1 3ff¥d el Y & I Ugarl
AT BfST &1 AT, IF MY Tdheilch HI AH IATSY TAT IHBT quid T
PRI FSTTDT FEIdl W 96 I S RIASRI BT AU ST I | 142

Q.18.- A number of passenger were severely burnt beyond recognition during a train accident name and
describe a modern technique what can help to hand over the dead bodied to their relatives.

UeT 19— s U, A & U &) 9T WX I &7 2, M 3R A3 & U
& 99 URERS a1 &1 9oi= Hifog ? 3

Q.19.- Orchid plant in growing over the twig of “ MAHUWA Tree “ explain the natural process between
orchid and mahuwa tree.

U 20.— qolel el Ud ! YA: gfcd & Uy oy ? 3
Q.20.- What is Ground water deprectiation and what are effect of this redeprectiation
g 21— FrEfaRad Il § Uig S drel 3RRON & A1 fIRag ? 3
(1) TRaATEE RTelm # |
(2) IR 7 # |

(3) FeieT— IR 57 # |
Q.21.- Write the name of sanctu found in the following places.
(1) District Gariaband (2) District Baster. (3) District Baloda- Bazar.

U 22— HOG&MG WEl & I ATaTI e ey ? 3

Q.22.- Write any three habitate adaptation of xerophytic plants.

U9 23— oid UIERTHT & GAET | BIRDT BT 7 [eq 7 94917 ol 8, VAT HRA |
Cat++ P YR FEIdl &Rl 2 | 4

Q.23.- In the experiments of biotechnology the cell is made "component”” white doing so how Ca++ helps.

3727d7 (OR)
ST GrRnfTeT wET | Slg wietUd (SiE) 9 7 @ e forRay ?

Write the role of biolistic of gene-gun in the experiments of biotechnology.

U9 24— Udh YRYFT YUT BIY BT AMIhd 3RG qHR 7 AN & U JqE dr

forfgy 2 5
(1) s0s
(2) fediras T
(3) wETAS I
Q.24.- Draw a labeled sktech of mature embryo sac and write one main function the following
(1) Egg (2) Secondary Nucleas (3) Synergids
31rdT (oR)

Th q9 & d9dd PIc B AHIIhd NG TG 1 9R1 BT T UHE BRI
TR |
(1) TRIToT AfeTpT
(2) afcirr
(3) IRTTRIT
Draw a labeled sketch of longitudinal seation of a flower and write the one main funtion of the

following :-
(1) Pollen- Tube (2) Stigma (3) pollen grain



T3 25— UTel 9191 arel ofd W (vyTt) BT FHR0T 8 19T dTel & Ulel(yyTt) o H=e
R 79 ¥ 9 59 YbR & BIFICISY Gdld & 3T & o Jdhdl g,
ferferRaa o1 dwr W forlgy ? 5
(@) ofd & @) 99 =

Q.25.- Which Type of Phenotype generation is possible if yellow seed and tall plants and crossed with green

seed and long plant (nyt) . Write their numbers also .
(a)Long green (b) Dwarf green.

31rdT (oR)
R & R o o' 8, fIdr &1 ®R ‘A’ 7 IR AT & R a7 B g,
STFIh! BT SIHICIZY AT dN Ud 37 Hdld H YR SIHICIsY &1 SdbN)
<d |
A child has blood group ‘o’ . if the father has blood group ‘A’ and mother blood group ‘B’ work out
the genotypes of parents and the possible genotypes of their other offsprings.

U9 26— ol UM BT & hY bl BT A9 9dgV, 9T f[ah™T 9Raday o
T3 & | 5

Q.26.- Name any five hybrid varieties of crop plants which have been developed in India.
31rdT (oR)
RIT UfeRIE® BEA U<l 6 @ [y D & gRT ITINT b S dTel
faf= =_oit @1 wa & fRag |

Write down the various steps which are used by formers to cultivate pest resistance crops.
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